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data; seg= 8192 tot= 360600 overlap=
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window= 1
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nseg= 69 kek(030506:GE085 window= 1
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Frequency (Hz)

nseg= 69 kek030506:GE085 window= 1
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UG—-UD:030506; 1-69 —
amp=2.60E—-09 f> 10Hz1
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data; seg= 8192 tot= 360600 overlap= 0.75
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amp=3.31E-09 f> 10Hz"
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data; seg= 8192 tot= 360600 overlap= 0.75

nseg= 69 UD :kek030506:GE085
I I [ ||||| I I [ ||||| I I [ ||||| I I T ||||:
- GE085.001 . 1— 0 —
R amp=9.25E—-08 f> 10Hz"
L amp=1.83E-07 f> 1Hz |
Sss, amp=2.68E—-07 {>0.1Hz -
. rgain= 1. \\ §
Noise Int.Amp. -
" amp=8.68E—08 f> 10Hz
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- amp=3.21E-08 f> 1Hz |
T amp=9.42E-08 f>0.1Hz S
T T NN - “/9'& ;
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R amp=1.17E-07 f> 10Hz1
Tt amp=1.84E-07 f> 1Hz |
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_ y,k’\,'.“"‘ \ _g
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- : -’f“n:v —
. rgain= 1. §
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data; seg= 8192 tot= 360600 overlap= 0.75
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- amp=1.55E-07 f> 10Hz-
T amp=1.92E-07 f> 1Hz |
. amp=3.01E-07 £>0.1Hz -
- WM{N‘ r \ §
o :
. rgain= 1. \ %
Noise Int.Amp. \\ .
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R amp=4.16E—-09 f> 10Hz1
- amp=1.83E-08 f> 1Hz |
. amp=1.45E-07 £>0.1Hz -
. rgain= 1. | %
Noise Int.Amp. -
" amp=3.89E-09 f> 10Hz NOTE
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amp=7.27E—-08 {>0.1Hz | N
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